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Abstract 
Japan is facing severe fiscal challenges. The aging of the population is projected to raise 
total pension and health expenditures. There is already a huge debt to output ratio which 
is the highest in advanced economies. In this paper we ask `if the consumption tax rate 
is raised to 15%, will there be a primary surplus, and what factors are important in 
achieving a fiscal balance?' Using the standard growth model's simulations as `modern 
back-of-the-envelope' calculations, the quantitative findings indicate the critical need to 
contain government expenditures. Even an annual growth rate of 3% in GDP over the 
next 20 years may be insufficient to turn consistent primary surpluses, combined with a 
new consumption tax rate of 15%, unless prudent expenditure policies are implemented. 
  
 
 
 
 
 

Keywords:  Primary Balance; Fiscal Policy; Productivity; Growth Theory 
JEL classification: E00, H20, H50 

 
* Professor, Department of Finance and Business Economics, Marshall School of Business, 
University of Southern California (E-mail: simrohor@marshall.usc.edu) 
** Deputy Director, Institute for Monetary and Economic Studies, Bank of Japan (E-mail: 
nao.sudou@boj.or.jp) 

The authors would like to Yukinobu Kitamura, Yasushi Hamao, Fumio Hayashi, Itsuo Sakuma, 
and the staff of the Institute for Monetary and Economic Studies (IMES), the Bank of Japan, for 
their useful comments. Views expressed in this paper are those of the authors and do not 
necessarily reflect the official views of the Bank of Japan. 
 



� ������	
����

����� �� ��	��
 ��
���	��� 
���
�����	 ��
 ��	�� 	������
��� �� �� ���� ����� ��� ����
����

�	�����	 ������� �� ��� �	�����	 ����
��� ���	� ������
 �� ��� ��	��
 ������� �� ���� ��


	�������
 �� ��� ���� ������� �� ��� ���� ���� !"# ��	��
�
 ��� ���
��� 
��� ���	� ����


��� $$� %���&��� ������ ��� ��	�&���
 �� ��� '$$ ��
 '$$$� ��
 ��� ������( �� 
���
�
��

���������	�

)�� *���+��+
��
+����, �� ��� ������ �����	������ �� 
�&������� 
��� �� !"# ����� ���	�

�� �����
� ��� ��
���� ����
 ��� -./" 	��������� $� �

����� �� ��� 	��	���� ��
��
��


��� �
��
 �� ��� ���������� ��
 ��� ��	�� �������� ����	����
 ���� ��� ����� �� ���� ���

����� �� ����
��
 ��� 
��� �� !"# ����� �� ��&��� 	����� �� ����� �� ��� ��0�� 
�&�����


	��������� ����� ��� ��� ��� ���
��� 
��� �� !"# ����� ����
 ��� 
�&�����
 	��������� �

���
� ���� �� ���� 
��� ��� �		�������
 ���� ����� ������
�
 �� ��� *���� 
�	�
�, �� ���

�  �� �� ������������� ��	������
 
�&������� ���	����� �� ��� ���� �� �����	 ���(� ���0�	��

���� ���� ����	�
 �� ��� ��
 ���
� ������ �� 
���� �		��
��
 �� ��� 1������� �� 2����	��

��� 
���� 
��� �� ��� �������� 
�&������� �� ���0�	��
 �� �� ����� ���3 �� !"# �� ���

��
 �� ����� )��� ����� �� ���� ���� ���	� ���� �� ����� 
�&�����
 	�������� ��	� �� 2���	��

/���
�� !������ ��
 ��� 4����
 5������ �� 
���	��
 �� 2�
��� 6�7�

1995 2000 2005 2010
40

60

80

100

120

140

160

180

200
Gross Debt to GDP Ratio

Japan
U.S.
U.K.
Germany
France
Italy
Canada

2�
��� �8 !���� "��� �� !"# 9����

�



�����,� ��� 
��� �� !"# ����� �� ���� &��� ���
�� ����� ���	� ���� �� ��� 
�&�����


	�������� ��������
 ���&�� ����� ��� �&����(�� $���� �� ��� ������ ���� ��� ���
��� 
���

�� ������ ����� �� � ��� ����� ����
 ��� 
�&�����
 	��������� 2�
��� 6�7 ����� ��� �����

�� ��� 
�&������� 
��� �� !"# �� � ������ �� -./" 	��������� )�� ��	�� �������� �� ���

���� 
�	�
� ��� �����
 ���� ����� ���� ���� ���� ��3 �� ����� �  �� �� ��:�;3 ���0�	��
 ���

�����

1995 2000 2005 2010
20

30

40

50

60

70

80

90

100

110
Net Debt to GDP Ratio

Japan
U.S.
U.K.
Germany
France
Italy
Canada

2�
��� �8 <�� "��� �� !"# 9����

$� ���� ������ ��� ����
��
 
����� ������ �� ���
 �� �&������ ��� 	��������	���� ��	��

�=��������� ���� ��� 
���
��
 �� �	���&� � ������� ��

�� ������� �� ��� ���� ������� ����


�� ��� 
��� �&������� �� ����� )�� 	���������� ��= �� �����
 ���� ��� 	������ >3 &���� ��

�>3 �� ��� �������� �=���������� 2����� ��� ��= �� �����
 
��
������ ��� ���	����
� ������

��� ����� �������
 ���� ���� ��
 ��
��
 �� ���:� 5�	��
� ��� 	���������� ��= ���� �� �����


�� ��� ���� �� �>3 �� ������

)�� ������ 
����� ��������( �� ���� ����� ������� %������ ��
 #���	��� 6����7 ���� ���

���
��
 ��� ��	���� �����
 ��� ���� 
�	�
� �� ������ � ������
 ����� �� /���� ?$�������@
���

��
 ?$�������@
�� 6���;7 ���� �=������ ��� �	�����	 ��
 
���
�����	 ������� �����
 ���

�-�� ��
�� ��	���� �� ��� ���� �	����� ����� ��� �� ��� &�������� ��	��
��
 ����� ������
 �� ��� ��&�����
��
 �=���
������ �� 
������ 
�&������� ��� �=������
 �� ���� ������

�



��	���� �������� �� ��� �������� ��&��
 ����� )��� ������	� 
�������� ��
�� �����������

���� ���	� ���� �	���� 
��� ���������� ���� ��
 ��������� ���&�
�� � ������ ��������
 
�&�	�

�� �&������ 
�&������� ����	���

)�� ��
�� �� ��������
 �� � ������������&� ��������
 ���� ��	�� 	������� ���(��� ��


��=���A�� ��� ��� �� 
��	�����
 �����
 ��������� ���0�	� �� ��� ������� &���� ��

��� � ����
+

�� ��� ���� � 	������� ������� �� �	��� /���+"��
��� ���
�	���� ���	���� �� ��=���A� ���

������� ���
�	��
 �������� ������� ��	��� ���	�� ��
 ����� ���
���� ���
�	��&������ )���� �� �


�&������� ���� ����	�� ��� �=�
����� ������ �� ���	������ �������� �������� ��
 ��������

�� 
�&������� 
���� �� ��=��
 ��	��� ��	���� ��
 	����������� ��
 ������
 ��� 
����

B� 	�������� ��� ��
�� �� ��� �������� �������� ��	��� �		������ ����� ���� 
�&�� �������

	��
������ �� � �� ��
 	��	����� ��� ����������� ���������� ���� �� ��� �������� �	�����

�����
 � ����
�+����� �� ��� ��� 
������ ������� B� ����� ��� ������������&� ��������


���� �����	� ������
�� (�����

� �� �=�
����� &�������� �� ��� ��
��� ��	� �� ����� ��	���

���
�	��&��� ��
 ���������� 
����� ������ 
����	������ ������ ��= ����� �� ��	��� ��	����

��
 	�����������C -�� ���	����( ���������� ����	� �� �� �������� ��� 	���������� ��=

���� �� >3 ��� � ���
 ����� ��� ��+	����
 *
�+������
, ����	�� $� �

������ �� 	����	����A� ���

����������� �������� �� ��� �	����� �� ��� 
�D����� ���� �� 
�����
 ���� ��� �����+����

��	�� �������	�� )�� ���� 	��������	���� �=�������� ������ ��� � 
��
��� ��	����� �� ���

	���������� ��= ���� ���� >3 �� �>3 �� > ����� �������
 �� ����� � ��	��
 ����	� �� �� �����

��� ��= ���� ���� >3 �� �>3 �� ��� ���� �� �����

)�� ����������&� ������� ��
�	��� ��� ��������	� �� ����� ��	���� �� �	���&��
 � ��	��

�����	� �� ��� ���� ������� 2����� ��
 ���� ���������� ��� �������� 
�&�������,� ������� ��

	������ 
�&������� ���	����� �� 
��
� ��
 ���&�	�� ��
 �������� �������� ���� �� 	����	���

$� ��� ���0�	��
 ��	������ �� 
�&������� �=���
������ ������
 �� ��� �
��
 �� ��� ����������

��� �����A�
� ���� � ������� ������� �� ������ ���������� �� �		�� ������� ����� ��	������ ��

��= ����� ��
 ���� �	�����	 
������ 5�	��
� ��� ���� �� 
����� �� ������ ���� �D�	� ��� ��=

���� ��
 ��������� ��� ���	��� �� ��� ������� �����	�� )�� ��
��� �� ��� 
����� ���� ��

������� ��� ���� 
�E	��� �� �� �� ������ � ������� �������� 2������� ������
 ��� 	����������

��= ���� �� ��� ����� ������ ���� � 
��
��� ������	�� ���
� �� � ������� �����	� ������� ����

��������� ��
 ���� ��(�� ��� ���	��� � ��� ���� 
����
��� �� ��� 
����� ���� �� ������� B�

�������A� ���� ��� ��	�� ����	� �=��������� ��� 	��
�	��
 �� � 
������ ����������� ��
��

���� ��(�� ���� �		���� ��� ������� �������� �� ��� ���&��� ��	��� �� ��� ��= ��	����� ��


��� ������
 	���
�� �� ��� ��	��� ���	�� ��
 ����� 	��������	�� �� ��� 
�&�������,� ��

���

)���� �� � ���
� ���������� ���� ���
��� ��� ��	�� 	������
�� ��	�
 �� ������: 1��� �� ����

�2�� ����� ����������
 �����	������ �� ��� ����
��
 
����� ��
�� �� ������������� ��	�������� ��� F����
��
 #���	��� 6����7�

CB� 	��
�	� � �������&��� �������� ���� ����=�� ��� ���������� �� �����	� ������
�� �� � �����	���� ����
-�� ������� ���� ��� �� �� ������� -����� �� ���� ���������� ��&� ����
 ���	�����	 ����������� ������
 �� �����	�
������
�� ���� ��
 ��� ����������&� ��
��
� ���� &��� ��������

:2�� �=������ .������ ��
 $������ 6����7 �������� ���� ��� �	�����	 ����
��� 
����
 ��� ���� 
�	�
�

C



������	� ����� �� �&������ ��� �D�	�� �� ��	��� ��	����� ������� 5��� ���� ���
� ��� ���� ��


�&������� 
��� �� ��� �	������ 5��	� ����� �� �� ����������
 ������ �� 
�&������� 
����

�	�������� ����	���� ��(� ��� &��� ���� 
��� ��&��� ���
�� ���� ���� �� ��&� �=������	�
 ��

��� ���� ������ �������������� �� � ������� �	�����	 ��
��� ��� ���
 �� ������ ��� ����	�

�� ��� �	����� ���� 
�D����� ��&��� �� 
�&������� 
���� ��������� ��(��
 ���� �		����

��� ������������ 	��� �� ��
�	��
 ��� 
��� �� ������ ����� �� *�������	��, ��&���� $����� F����

F���
�� ��
 G����� 6���;7 ��
 F����(�D 6���;7 ������� ����������� ����
 
������ �������+

����� �&��������
 
���������� ��
��� �� ���
� ��� ����	� �� �
��
 ��
 � ���
� 
�&�������


��� �� ��� �������� �	������ )�� ��	�� �� ����� ������ �� ��� ���
 ���� ������
� ���� 
�

	��	����� ������������ ������ $� 	�������� ��� 	����������� �� ��� ��� �� ��� ���(����� ��	��

��
�� �� � ������ ��� �� ���
�	��
 *��	(+��+���+��&�����, 	��	�������� ���� � �����+��� ��	��

���� ��
�� ���&�
� ����
��� ��� ��	�� ����	� �� ��� �����+�����

)�� ����� �� ��
���A�
 �� �������� 5�	���� � 
��	����� ��� �������� ��	�� 	��
�������

5�	���� C 	������� ��� ��
�� ���
 �� ��� ������ 1���������� ��
 	���������� ��� 
��	����


�� 5�	���� :� <�����	�� ������� ��� ��������
 �� 5�	���� > ��
 	��	��
��
 �����(� ��� ��

5�	���� ;�

� 
������� ���
�� ����������

�		��
��
 �� */������ �������� 2��	�� /��
������ ��
 $����� �� �� /����
���
8 ����,� 1��+

����� �� 2����	�� ��		����&� �������� 
�&�������� ��&� ���� ���(��
 �� ������� ��	�� �����	�

�� ��������
 ���� �=���
������ ��
 ��&������ )�� ���
��� ��
 ���
��� �� ��	�� 	������
�+

���� ��� ����� ���
��8

� #���� $ 62H����+2H���;78 9������ �� ��� F��A��� /�������

� #���� $$ 62H���I+����� �����78 �	���&� ������� ������� �� �����

� #���� $$$ 6����� �����+��
+�����78 1������� ������� ������� ��
 ����� ��
�	��
 
���J!"#�

�� ������������� 	��������� �� ��� ��	��� ��

�� 
��	��� �� ����� ��
 ����� -./"

	�������� �� 
�&�� �� 2�
��� 6C7 ������ -&�� ��� ���� 
�	�
� �� ��� ����� ��� ��� ��	� ���
��

��

�� 
��	��� ���� ����� 
�&�����
 	��������� ������ 
�� ��� �

�����&� ��	�� �=��������

���� ��� �����
 
��� �� ����������
 ��� �	������ $� �����	����� �������� ��	�� �����������

��&� �

�
 �����&� 
��� �� ��� �����
 ���� �  > �� ���> ��
 ��&� �

�
 ������� �������

����� ���> ����� ��� ��	��� ����	��� 	����� ��
 ��	�������

	�����
 �� ��	����� �� ��� 
��� �� !"# ����� �� �; �������

:



1995 2000 2005 2010
-14

-12

-10

-8

-6

-4

-2

0

2

4
Budget Balance to GDP Ratio

Japan
U.S.
U.K.
Germany
France
Italy
Canada

2�
��� C8 G�

�� G����	� �� !"# 9����

�� ��� ��
 �� ����� ��� 
�&������� ��������
 ���� ��;�> �������� ����
 �� ���
�
 ��

�	���&� ����� ���
��� #�����
 	��� �� �=���
������ ���� ������� ����: �� ��:�C ���������

)��� ���� ����� ���� �� �>�� �������� �� �� ����	�
 &�� �� �

������� 	���������� ��=� ��

�� ���� ����� ����� �� � ��� ��	�� ��������� �� ������ ���� � ���
���� 
�D����� ��	�� ������(�

�		��
��
 �� ��� ��
���
��� �� ��� ��

�� ��� ���� ��������
 �� "�	����� ��� � ��������

�������� 6��	��� ��	����� �� �����	����7 ��� �=��	��
 �� ��	����� ���� � ���
�� 
�	���� ��


�&������� ���	������ -�� ���	����( ����������� ���� ��(� ���� �		���� ����� ���� ��	���

��	�� ����� ��
 �=�������� ���� ���������&� ��	�� ����� �� ���� �� ��� �������&��� ���������

� ��� �������� ���
�����
�� ������ �����

)�� ���	�����	�� 
����� ��
�� ��� ���� ��� ���(����� �� ��	���	�����	�� $� ��� ���� �����

������ �� �=�������
 ��� �	������� �&��&� 
�����	���� �� �������� �� ���	(� ��
 ����	�� 2��

�=������ %������ ��
 #���	��� 6����7 ��� ��� ����
��
 ������ �� ���&�
� ���� ����
�� ����

��� ���� 
�	�
� �� ������ )��� ��
�� ���� ��� 
�	���� �� ��� ���(���( �� ��� �  �� ��
 ���

����
��� �� ��� �������� ����� ��	��� ���
�	��&��� ��&� ���� ����������� ��� ��� 
����+���

���
������ �� ���� ������� /���� ?$�������@
��� ��
 ?$�������@
�� 6���;� ���I7 ��
 G�����

>



$(�
�� ��
 ������ 6��� 7 �=����� ��� ��	���� ����������� ��� ��� 
�	���� �� ��� ��������

��&��
 ���� ��
 ��
�� ���� ��� ��	���� 
�	���� �� ��� )2# 
����� ���� ����� ����������&���

���������� 1��� ��	������ /���� ?$�������@
��� ��
 ?$�������@
�� 6��� 7 �����A� ��� ��	����


�	���� �� ��� 4�5� 	������ �		���� �����	� ��
 ��������� �� �� ��� 
�	���� �� ��� ������&�


����� ����� �� )2# �� ��� 4�5� ��
 ��� ��0�� ���
��
 ���������

)��� ������	� ��

���� ���� ��� ����
��
 
����� ������ 	�� �� � &������� 
��
� ��� 
�&+

������� ����	� �� �� ����� �� �� � ������ ��������
 
�&�	�� $� ���� 	���� �� ��
���� �	�����	

�
���� ��(� ���� �		���� ��� ��&�������� ���� ��� ��������
 �� ��	� �� ��� 
���
�����	

����	����� ���
�	���� ��	�����
�� 
�&�������,� ����	� ��
 ��	��� ���	��� ��
 ��(� �������


	���	�� ��� 	����������� ��&��
� ��
 ����� ������� B��� ����� �� � 	���
� �� 
�&�������

����	�� ���� ��+������A� ��
 ������
 �� ��� 	���
� �� ����� ��&�������� �� �� ������� ���+

���� ����� ��� ���	����( ��
�� �� 	����	����A�
 ��
 ��� ���������� ���
��
� ���� ������	�

	��
�	�� 	��������	���� ����	� �=��������� �� ���&�
� ���� ����
�� ���� ��� ��(��� �D�	�� ��


�D����� 
�&������� ����	����

��� ��	��������  ��!��"

)�� ��
�� �	����� �� ��� ����
��
 
����� ������ ��
�� 	������� ���(���� ���	� ��� ����

��� ���(����� �� ��	���	�����	� �&�� ��� ���� ����� 
�	�
��� � ������������&� ��������


���� �� ���(��
+�
� ������� �� 
��� �� ���&��

���

��
���

���� ��� ��

���0�	� ��

�	 
 � ������ 
���� � �	 
 �	� ������	� � 
��
�� 
 �	� ��������� 
 
�� ���� � 
���
�
� �

����� �� � ����� �� 	���������� ��� ��������
 ������� �� � ����� �� ��� ���	���� �� �����

���(�
 ��� ������ �� ��� ��������
� � �� ��� ���0�	��&� 
��	���� ��	���� �� �� ����� �����

���(�
 �� ��� ���(��
+�
� ������� �� ��� ��������
� ���� ��
 ���� ��� ��= ����� �� �����

��
 	������ ��	���� �����	��&���� �� ���� �� � ��� �� ��� 	���������� ��= ����� � � �� � ���+

	����� ����+��� ��
���	� ��= 
�����	� ���� ��� 	���������� ��=� �� �� ��� ���� ��
�� 
�� ��

�

��
��� 
�&������� ���������� ��� �� ��� ���+������ ������� �����	�� 	� �� ��� ������ ����

�� 	������� ��
 
� �� ��� ����+� 
����	������ �����> G�
�����
 �� �����
 � ������ ��� 
�����
 ��

��� )�� ��A� �� ��� ��������
 �&��&�� �&�� ���� �=�
������� �� ��� ���� �� � �������� $� ��
������
 ���� ��� ������������&� ��������
 ��	��&�� ��� �������� ������
� �� ��� 
�&�������


���� $� �

������ ���(��� ��� 	��������

>B��� �� ����� �� �	�����+��
� �

��
��� ����������� �� ���� ��� ����� 	��� ��������

;



��� ���"��  ��!��"

)���� �� � ������������&� ��� ���� �		��� �� � 	������� ������� �� �	��� /���+"��
��� ���+


�	���� ���	���� 
�&�� ��

�� � ���
�
���

����

����� � �� ��� ��	��� ����� �� 	������ ��
 �� �� ����� ��	��� ���
�	��&���� ���	� 
����

�=�
������� �� ��� ���� �� � �������� �

��
��� 	������ ���	( ������� ��� ��� �� ������

���� � �	� 
���� 
��� 6�7

����� �� �� 
���� ��&������� �� �����
 �� ��
 
� �� ��� ���� �� 
����	������ �� 	������ �� ����

��

)�� ����
+�� ��� ��=���A�� ��� ������ �� 	������
 	������ ��
 ������ )��� ���
�	�� ���

����� ����������� 	��
������ ���� ������ ��	��� ���	�� �� ����� ���
���� ���
�	��&������

��� ��#���"��� $	�%��

)���� �� � 
�&������� ���� ��=�� 	���������� ��
 ��	��� ���� ����� ��
 	������ 6��� ��


����	������7 ��
 ���� ��� ���	��
� �� ����	� �=�
����� ������� �� 
�&������� ���	�����

�� ��
 
�&������� �������� �������� 
��� )�� 6���+	�����7 ��

�� �����	� �	� ��
 �������

�����	� ��� ��� 
����
 �����	���� �� ��������

�� 
 
�� 
 �� � �������� 
 �����	� � 
���� 
 � ����� 
��� � ����
	
� � 6�7

�� 
 
�� � �������� 
 �����	� � 
���� 
 � ����� 
��� � ����
�
� � 6C7

����� �� ���������� �������� �������� �� 
�&������� 
����;

��& ��"������#� '(	���!��	"

!�&�� ��� 
�&�������,� ��	�� ����	� ���� 
��� ��� ����� ����� � ���� � ������� � 	��������&� ����+

������� 	������� �� �� ����	����� ���� ����������� �������� � ��

�� �����	� �	� � � �������

�����	� ��� � ��
 ���	�� ���� 	�� ��	� ����

� ��� ����	����� ���&�� ��������
,� ��������

; $� ��� 	������ ������ �� ������ ���� 
�&������� 
��� �� ���
 �� 
������	 ����
���� ��
 �������� ��������
��� ���
 �� ����� ���������&���� �� 	�� ������ ���� 
��� �� ���
 �� �����
���� ��
 ���� ��� �������� ��������
���&�
� �� ������� �� 
������	 ����
����� $� ���� 	���� �� �� ��
��
�
 �� ���� �� ��� -�� ������	�� ������� ���
��� �D�	��
 �� ��� ����
��	� ���	��	����� �� 
�&������� ���
 ���
��� ���	� ��� �������� �������� �� 
���
�� � ����� �� !<# �� &��� ������

I



� ��� ����	����� ���&�� ��� ���,� ����� ��=���A����� ������� ���� ��	��� ���	�� 
�&��

��8 �� � �	� �����
�
���

��� ��
 	� � ����
���
� ��

����

� ��� 
�&������� ��

�� �� �������
�

� ��� 
��
� ���(�� 	�����8 �� 
�� 
�� � ���

��) '(	���!��	" ����������

)�� ����������� 	��
������ �� ��� ��
�� 	�� �� 	������
 ��
 �������A�
 �� ��� ���������

�����8

�	 
 � ����������
����

�
�	 
 � ������

��
�
�
	 
 �	� �������

�
������

���
�������

��� � 
���

��
� 6:7

���� � �	� 
���� 
���
�
���

��� � �� ���� 6>7

B� 	����
�� � ���������� ���� 
�&�� ������� 	��
������ �� � �����	�
 
����� ���� ��

���	� ��� 	����� �

��
��� &�������� 
��� �� ��� ���� ��
������ � 2�� �� �

��
��� &������� ���

��� 
�����
�
 &������ �� 
�&�� ��8 ��� � ���

�
�

�
���
� ��

	
� �������
 ���� 	���
� �� &�������� ��

6:7 ��
 6>7� �� ������ ���������

����� �
�	 
 � ����

�	 
 � ������

���
�

�
���
���

�
�
	 
 �	� �������

�
�������� � 
���

��
�

����� �
	

�
�

���
��� ����

��	� 
�� 
 �	� ����
���
� 
��� � ����

����� �� �� ��� ����� �� 
�&������� ���	����� �� ������� ������ ��
 �� �� 
�����
�
 	������+

����� ������ ���������
�

���
� �

5�����
 ��� � �� ��� ��� �� ��� ����
�+����� ��� ��� ��
�� 	�� �� 	��	�����
 �� ���&��
 ���

���������

	 �
	

�
�

���
�
�
	 
 �	� ���� ������ � �
��

�� �
	

�
�

����
��	� �
� 
 �	� �������
�� � ���

���	� 
���&�� ��� ����
�+����� &����� �� 
�����
�
 	������ ��
 	���������� ����� �
� ���� ��
��� ��� ��� ����
�+����� 
����	������ ����� ����� ��	��� ��= ���� ��
 	������ ��	��� ��= �����

�����	��&����

�



& ����	��"��� ��� ����!������

$� ��
�� ��� �� �� ��(� ���
�	����� ����� ��� ��	�� �������� �� ����� �� ��� ���� ������� ��

���� ��� ��
�� �	����� �� 
������� �

��
��� ����&��� ��
 ��	�� ���	���� ���� ��������

����� 	����������� �� ��� �������� �	������ 2����� �� ��(� �
0�������� �� �����&�
 ��	��+

�	�����	 �

��
���� �� ���� 
��� �		����� ��� �� ���� ���� ��� ��
�� �		������ 5�	��
� ��

��(� �
0�������� �� 
�&������� �		����� ��
 ����
 ���� 	����� �� ���� � 
�&������� 
���

�� ��� ����
��
 
����� ��
��� )���
� �� 	�������� ��� ��
�� �	����� �� 
������� 	������

���
��� ���� ��� �������� �	������ G����� �� ���� 
��	���� ����� 	���������� �������

&�� *�+	��"���� �� �������� *

�	���

$� ����
��
 
����� ������� 
�&������� 	���������� ��
 ��&������� ��� �=�����
� )����+

����� 	���������� �� ��� ��
�� �� ��� ��� �� ���&��� 	���������� ��
 
�&������� ���	�����

�� 
��
� ��
 ���&�	�� ��� ���� 	���������� ��
 ��&������� ��������� 2�������
 %������ ��


#���	��� 6����7� �������� �������� �		����� ��� ��
���
 �� ��	��
� ������ 
��� �� ��	��+

�	�����	 ��
�	����� ��	��
��
 ����� �� ��� �

&�� *�+	��"��� �� ��#���"��� *

�	���

)��� �����	���� 
��	����� ��� ��� !������ !�&������� �		����� ��� �����
�
 �� ���� ���


�&������� �		����� �� ��� 
��� ��� �� ���� ���� ����� �� ��� ��
��� $� �����	����� �����A�



�&������� ��&����� ���� �� �����
 ��� �� ���� 	��������
 �� ��	��� ���� 	����������

��
 ��	��� ��	��� ��=����� �� ��� ��
��� $� �

������ 
�&������� ����
��
 ����� ���� ��

	���
���A�
� )�� ��� �� �� ��&� ������� ��
 ��

�� �����	�� �� ��� 
��� ��
 ��
�� �� ���
�

	��	��������� )�� �������� 
��� �� ��� ����� �� �� �������� ��� 	���� ��� ����
��
 
�����

������ 	���� �� 
��������
 �����&�
 ��

�� �����	� �
���� ��
 �� ��� ��� ��
�� �� 
���&��

����� ��� ���
�	����� �� ���� ��� 
�&������� �		����� ��
 �������� �		������

&���� ����	"����� ��, -�#��	�

� /���������� ��= ��&���� �� ��� ��
�� �� 
�&�� ��

� ������ 6;7

� /���������� ��= ��&���� �� ��� �������� 
��� 	��������
� ��

K���� �

�
 ��=�� 6K�)7� 6I7

 



&���� ��
�"� ��, -�#��	�

� 2�	��� ��	��� ��= ��&���� �� ��� ��
�� �� 
�&�� ��

���� �	� ���� 
 ���� ���� � 
���� 6�7

� $� ��� 
���� ���� 	��������
� �� ��� ��� �� ���� �����8


���	� ��= �� �������	����� 
���	� ��= �� ����	�����


���	� ��= �� ��������
�� ��	��� ��	����� ��= 6
����7

�
6 7

&���� $	�%�� $����
�

� �� �� ��� ���&�� ��

�� �����	� �� ��� ��
�� �� 
�&�� ��

� ����� 
 ���� �	� ���� 
 ���� ���� � 
���� 
��� � � 
�� ��� � ���

$� 5�	����� > ��
 ;� ������� �����	� �
���� 	������ L6;7 M 6�7 
��� � � 
�� � ��N

6��
��7 ��
 L6I7 M 6 7 
��� ��
�����N 6
���7� ����� &�������� 
�� ��
 �� ��� ��� ������

	������	��
 ���� ��� 
���� �		��
��
 �� ��� �����
���
� ���&�
�
 ������

� . $�
���	� ��= ��&���� ����� ���� 	���������� ��=� ��� �� �� 	��	�����
 �� ��� ���

�� ��� ��������
 �����8�








�


 $����� 
�����


 -�����


 -���� ��=�� �� ���
�	����

� 5����
���� �������

� /������ ���������� �������


 /������ ���������� ��	��&����

�����������
. )������� ��������� 
��� ��� 	��	�����
 �� ��� ��� �� ��� ��������
 �����8�
� 
 5�	��� ������� ����� ���� ��	��� ��������� �� (��
� �������


 -���� 	������ ���������� �������

� -���� 	������ ���������� ��	��&����

���

��



. $������� �������� �� 
�&������� 
���� ��� ��� 	��	�����
 �� ��� ��� �� ���

��������
 �����8

�#������� ��	���� �������� #������� ��	���� ��	��&�����

. !�&������� ���	����� �� 
��
� ��
 ���&�	��� ��� ��� 	��	�����
 �� ��� ��� �� ���

��������
 �����8I� �
� 
 2���� 	���������� �=���
�����


 !���� �=�
 	������ ���������

� /���������� �� �=�
 	������

���
&�� ����!������ �/ ��� �����

)�� 
��� �� 	���������
 ��� ��
�� �� �� ���	� ��� �	�����	 �
���� �� �� ��&�������� ��

���
�	� �	�����	 ����&��� ������� �� ���� �� ��� �������� �	������ )�� �������
 �����

��� ��� �������� �� � �� ���	� �� ��� ���� ���� ���� �������� �		����� ��� �������
 ����
 �

	��������� ��� �� 
���������� )�� ���� �����
 ��� ���	� �� ��&� 
��� ��� ���� �� ��� &��������

����� )��������� ��� ��
�� ���� ��(� �����&�
 ������ �� 
�&�� ��� ��� � ��+���� �����
�

��
 ���� &����� ��� ��� � ��
 ���� ��(� ���������� ����� ��� &����� �� ����� �=�
�����

����� ��� ��� ��
 �����
� � ����
� ����� �� ������
 �� �� ���	��
 ��� ���� ��� ������ ��

���� �� ��&� � ���+����� ����
��� �������� �������
 ���� 
�&�� ������� 	��
������ �� � ���

��
 ��
��
 �� � ����
� ����� ��� ���� ��� ������� 2�������
 %������ ��
 #���	��� 6����7�

�� ��� � �������
 ��
������ �� 	��	����� �� ����������� ���������� ���� ���� 	����	�� �����

��� ����
��� ������� 5��	� ��� ����
� ����� �� ���	��
 ��� ���� ��� ������� ��� �����������

����� ���� ����
� ����� ���� ��&� ������� �D�	� �� ��� ����
���� ������ ����
 ��� ����������

�����

)�� ��������
 ����� �����	����� ���� ������� ��� 	���������� 	���	�� �� 
������ 2����� �����

��� ��� ���������� ���� ��� 	������� �����
���� ��� ��������� 5�	��
� ����� ��� �=�
�����

������ ��� ���	� �� ��&� 
���	� �����&������� ��
� ����
� ����������� ���
 �� �� ��
� ���

��� &����� �� ����� �=�
����� ������ ��� ��� ��
 �����
�

&���� ��������  ���"����� ��� �����01����� ����!������

)���� � ����� ��� 	��������
 &����� �� ����� ��
 ����� ���������� �� ��� ����
�+������ )��

��� ���������� � ��
 � ��� ��&������ �����
���� ��� ��������� 2�������
 %������ ��


#���	��� 6����7� �� ��� ��� ������ �&���
� ��� ��� ��	��� ����� �� 	������ � �� !<# ����

I$� ��� ��
��� ��� 
�&������� ���	���� �� 
��
� ��
 ���&�	�� 
��� ��� 	������ L/���
�� �� ��&��������N
��
 L#��	����� �� ���
� ���N ���� ��� ��	��
�
 �� 5<�� $� ��� ����������� �� �

 ��� �	���� &����� �� �����
��� ������ �� ���� ��
�� ��
 
��� �� ���� ��

�� �����	� ��
 ������� �����	� ��� 	��������� ���� �����
����
 �� 5<��

��



� �� �� ����� )�� ����
�+����� 	������ ������ ����� ���
�� �� ���� ���	� �������� �� �� ��(�

� &���� �� ���� ��� �� 2�� 
� �� ���� ������ %������ ��
 #���	��� 6����7 ��
 ������ � &����

�� ����� B� ��� � )2# 
����� ���� �� �3 ��
 ���������� 
����� ���� �� �3 �� ��� ����
�

����� ���	� �� ������
 �� �� ���	��
 ��� ���� ��� ������ ��
 ��������� 
��� ��� �D�	� ���

�����+���� ���
�	������ )���� 	���	�� ��� �������A�
 ������

)���� �8 /���������� �� ��� 5���
� 5����

� �� I 5��0�	��&� "��	���� 2�	���

� ��CII -����� 5���� �� /������


 ���� "����	������ 9���

� � 	 ���� )2# !����� 9���

�� 	 ��� #��������� !����� 9���

�� ��C � /������ $�	��� )�= 9���

�� ��� � O���� $�	��� )�= 9���

��� ���> 9���� �� !�&������� #��	����� �� !<#

)�� ���������� ��� ��	�� ����	� ��� ��� ����
� ����� ��� 	����� �� ����� ����� ��	���

������ �&���
��� )��� �� 
��	����
 �� ���� 
����� ��=��

&���� ���	�� /�� �23�1�443 ��� !�0���

B� ����� ���� 
�&�� ������� 	��
������ �� � �� ��� ��� �������� 2����� �������
 ���� �� �������

���� ��	� �� � ;�� ����
� ������� ������� ��� ��� �����
 �� ��� ���������
 ��� 5�	��
� ��


���� ���������� �������� �		����� ��� �&������� �� � 	��������� ������ ���� ���� � ���

2��� � �� ����� ����� �� ��� ��� �����&�
 &����� ��� ��� ��������
 �=�
����� &��������8

������� 
������ ������ ����� ����� � ���� � �� 
�� ��� ��� ���������	���
	��

)�� ���� ������ ��� 
��� ���� ���� ���� ���� �� ��� ��	( �� 
��� �� ��� 
�&�������,�

��

�� ��
 ��� ��= ������ 2�� ��� � �� ��� ���� �� ��� �	���� 
��� ��� ��� 
����� ����� ��

)2# ��
 ����������� ��� ����� �� 
�&������� ���	����� �� !<#� ����� ����� ���(�
� ����

!<#� ���� 	���������� �=���
������ ��
 ���� ��&������� �=���
������� � 
������
 ���� ��

����������� ��� &������ �=�
����� &�������� �� 
�&�� ������

� ������� 
���������	���
	� � !�&������� ���	����� �� 
��
� ��
 ���&�	�� ��
 �������� ���+

������ ������&� �� !<#� ��� ��(�� ���� ��� �������� 
�&������� ��
 �������� �		�����

�� 
��	����
 �� ��� ���&���� ��	����� )�� 
��� �� ����� ��
 
����� ��� ��� ��� ��+

���=�����
 ���� ��� �����	�� �&������� ��� ����������� 
����� 2�� ����� �� ��� ��


�)� 	������	� �� ��� ��� � �� �=��������� L!���� 2�=�
 /������ 2��������N �� ��� 
����� ���� �� L#����	

��



�����
� �� ��� 
�D����� ���� ����� ��� ��	� 	�������� �� ��� 
����
��
 �� ��� 	���+

�	�������	�� )�� ������ �� L!���� 2�=�
 /������ 2���������N L$�
�&�
��� 	����������

�=���
������N ��
� L)�������� �� ��
�&�
��� ���+���(�� 
��
� ��
 ���&�	��N �� !<#

��� ������
 �� �������� ��	����� �� ����� �����	��&� ������ �&���
�� ���� �   �� ����

�� ���� ��>� ��
 �� ������ 	������� �� ����� ��>� ��&��� ����&��� L5�	��� ��������� ��

(��
� ��������N �� ������
 �� �������� 	��&��
� �� ��3 �� !<# �� ���� ��>�� ��������


��� ���0�	����� �� 2�(��� ��
 5��� 6��� 7� ��
 �� ���� 	������� �����
� <��� ����

����� �=���
������ ��� ������ ��� �������� ������ �������	� ���	� ��� �
�+��
����
���

���� ��� ���
 ���� 	��� ��� ��� ��
����� �� � ������� ����� �� ������
 �� 	��&��
� ����

��3 �� ��� �� �>3 �� ��>�� 
����� �� ������
 �� �������� 	��&��
� ���� �C�>3 ��

��� �� ��3 �� ���� ��>� ����� �� �
��� ���� �� ��� ��������� �� 2�(��� ��
 5���

6��� 7� <��� ���� ��� ��	����� �� ��� ����� �� �������� �������� �� !<# ����������

��� �=��	��
 ��	����� �� ����� ������� �������� ������&� �� ��� ��A� �� ��� �	������

B� ������ ���� ���� ����� �� 
�&������� �=���
������ �� !<# ������ ���� 	�������

����� ��>�� )���� ���0�	����� �����
�	� ��� ��	�� ��������� 
�� �� ��� �=��	��
 �
��


�� ��� �������� ���������� ���� ��� ������ 
����� ��
��� $� 5�	���� ;��� � �������&���

�������� ���� ����� ���������&� ����� ��� ���� ���	����� ��
 �������� ��������� $� ���+

��	����� �� ���� �=����� ��� �D�	�� �� L���
���N ��
 L�����
���N ����	��� ���� 
�&����

�� �� ���	����
� ������ ���� ��� ���&� ���	����( ������ �� ��3 ��
 �>3 6��� ���

���� ��>�7 ��� 
��� ��
 ���� �����	��&����

2�
���� 6:7 ��
 6>7 
��	���� ��� ���	����( ����� �� 
�&������� �=���
������� ��	��
+

��
 ��� ����������� ����� ����� ���+��+������ &������

$�&�������N ���� ���� �� ��� � B� ������ ���� L/���������� �� �=�
 	������N �� ��� ������ ���� �� �����
B� ���� �

 ��� ��� �=���
�
 ������ �� L2���� 	���������� �=���
�����N �� ��� �

�C



1980 2000 2020 2040 2060

0.7

0.8

0.9

1

1.1

1.2
Population (Normalized)

1980 2000 2020 2040 2060
0.06

0.08

0.1

0.12

0.14

0.16

0.18
Transf er Pay ments to GNP Ratio

1980 2000 2020 2040 2060
0.005

0.01

0.015

0.02

0.025
Interest on Debt to GNP Ratio

1980 2000 2020 2040 2060
0.16

0.18

0.2

0.22

0.24

0.26
Gov ernment Purchases to GNP Ratio

2�
��� :8 #���������� )������� #�������� $������� �� "���� ��
 !�&�������

#��	�����

�:



1980 2000 2020 2040 2060
0.02

0.04

0.06

0.08

0.1

0.12
Social Benef its in Kind to GNP Ratio

1980 2000 2020 2040 2060
0.034

0.036

0.038

0.04

0.042

0.044

0.046
Transf ers of  Non-Market Goods to GNP Ratio

1980 2000 2020 2040 2060
0.06

0.065

0.07

0.075

0.08

0.085

0.09
Gov . Collectiv e Consumption to GNP Ratio

1980 2000 2020 2040 2060
0.03

0.04

0.05

0.06

0.07

0.08
Gov ernment Inv estment to GNP Ratio

2�
��� >8 ����������� �� 5��+/���
����� �� !�&������� .=���
������

� �
�� ��� ���������	���
	� � 2�� ��� ���� ����� �=�
����� &��������� ��� &����� ��� �&�������

��
 ���
 �� ��� ������������ 2�� ��� ���� �� 
����	������ �� 	������� 
�� �� ��� ��

����� �� ��� &���� �� ���� ��� ��� ��
 �����
� B� �=���
 �� ���� ���� �� ��>�

����
 �� ��� ��
���+��������� ��
 ��
���+��������� ���������� ���0�	����� ��
� ��

��� <������� $�������� �� #��������� ��
 5�	��� 5�	����� 9�����	�� ��
 ������ ����

���������� ������� ��	���
�
 ����� ��>�� B� ��� �� ����� �� ��� �&���
� ���� �   

�� ��� ��� ���� ���� ��
 �����
� -�� 
 ! �� 	��	�����
 �� �� � ����
�
� ����

����
)�� 
����� ���� �� )2#� �� � ������� �� � (�� �=�
����� &������� ���� ��P���	�� ���


����� �� ��� ��= ���� ��
 ��������� ��� ��A� �� ��� �

������� 	���������� ��= ���
�


�� ������ � ������� �������� )�� ���	����( ���������� ������� ���� ��� 
����� ����

�� )2# �� �3 ��� ��	� ���� ������� ���� ��
 ����� ��
 ���� �� ���� ����� �� �3 ��


����� �� ���� ����
�+����� &���� ����&��� 5��	� ��� ����� ��	���� �� ��� ����	� �� ��	��

����	� �� ��� �������� ��	���	����� �� ��� ����� ����� ���� ���������� ����� ���

����
�+����� 
����� ���� ���� ��&� ������ ����������&� �D�	� �� ��� ��
��,� ���
�	�����

��� ��� ��=� ��� ������ %���&��� ��� ����������� �� ��� 
����� ���� �� )2# ����

�>



���� �����
� ���� ��� ��&� ���� �����	������ �� ��� ��A� �� ��� ��= ����� )��������

�� ���� ���� ������ ��� ������� �� ��	�� ����	��� ��
�� ��� ���������&� ����������� ��

��� 
����� ���� �� )2#� $� ��� *����������	, 	���� ��� 
����� ���� �� )2# �� A��� ���

��� ��=� �� ������ $� ��� *���������	, 	���� )2# 
���� �� �3 ��������� $� ���� 	�����

)2# 
����� ���� ��(�� �� ��� ���
 ��� &���� �� �3 �� ��� ��
 �����
� <��� ���� ���


����� ���� ����������� ��� �� ��� 	�����&���&� ��
�� $� 5�	���� ;�� �� ���� 	����
��

��� ����������&� �D�	�� �� � C3 ���� �� 
����� �� )2#� )���� � ����� �������A�� ���

����������� �� )2# 
����� ������

)���� �8 )2# !����� 9���� ��� ���� ��
 �����

�� � 	 )2# !����� 9���

�� ��� ��	� � � � ���� ����������	

	� ��� ��	� � � � ���� ���	����(

�� ��� ��	� � � � ���� ���������	

� ������ ������������
	� � )�� ����� ��	��� ��= ���� ������ �� �� ��
���
 &������ �� ���� 	��+

	�����
 �� 1��
�A�� 9�A��� ��
 )���� 6�  :7� )��� ��� �������� �		����� ��
 
�&+

������� ��&���� ��������	� ��� ���
� ��
������� 	�������� �� 	������ ������ ���� ������

�� �D�	��&� ��= ����� �� ��	��� ��	����� )�� ���� ���� ��� ���	� ���� ��= 
��� ��� ��

��
���
 �� ���;� ��
 �� ������ ���� ������� � ����� ��� ��� ����� ����� ���;� )��

	������ ��	��� ��= ���� �� 	������	��
 �		��
��
 �� ��� �����
���
� �� %������ ��


#���	��� 6����7� )�� ���� ���� ��� ���	� �� 	�� 	������	� ���� ��= ���� �� ���� ��


�� ������ ���� ������	 � ����� ������� ��	���
�
 ����&��� )��� ���� �� 	�� ���	�

��� 	���
�� �� ��� ��
��,� �		����� �� ��� ����������� �� ��� 	���������� ��= �����


�&������� �=���
������ ��
 )2# 
����� ������

� �� �������	���
	�)�� 	���������� ��= �� ��� ��
�� �� ������
 �� ���� ���� A��� �� C3 ��

� � � ��
 �� >3 �� �  I� $� ��� 
���� ����� ��� ��=�� ���� ��� ����	���� 	�������
 ��

	���������� ��=�� ��	� �� ������ ��
 �=	��� ��=�� ���� �=����
 ������ � � � $� ���

��
�� ��
 
���� �� 	������� ����� �� ���+	���������� 6����+���7 ��=�� �� ���� �� 	��

	��	������� �� ��� ���� ��	��� ��
 ���
���
 	���������� ��=��� $� ��� ����
�+������

�� ������ ���� ��� 	���������� ��= ���� �� �>3 ������ *
�+������
 ����	�, �� �������


��
 >3 �� *
�+������
, ����	� �� ���������
� 5��	� ��� ����
�+����� �� ���	��
 �� ���

��� 
������ ������� ���� ���������� ��� �� ����������&� ����	� �� ��� ���
�	����� ��

��� ����� ����

)���� ����� ��= ����� ��� 
�������
 �� 2�
��� 6;7�

�;



1980 1985 1990 1995 2000 2005 2010
0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4
Consumption
Labor Income
Capital Income

2�
��� ;8 )�= 9����

2�
��� 6;7 ��
�	���� � ��	���� 
�	����� �� ��� ��= �� 	������ ��	��� 6���� � ��	��� ��	�����7

��
 � ���
�� ��
 
��
��� ��	����� �� ��� ����� ��	��� ��= ����� )�� 	���������� ��= ����

������� � ���� ���	���� 
��	����
 ���&�� <��� ���� ���� 	���
����� �� �������� ��
 
��
� ���

�� �=���� ���� ��=��� 5��	� ��� ��= ����� ��	�
 �� ��� ������������&� �
��� �� ��� ��
�� ���

	��	�����
 ���� 
�D����� ����	��� ���� ���� ��� ���
�	� ��
�� �		����� ���� 	��� 	���� ��

��� �����&�
 
�&������� �		������ �� � ������� �� �
0������� �� ��	������ �� ���� ��� ��=

��&����� �� ��� ��
�� ��
 ����� �� ��� 
��� ��� ���������� ���
��
� 2�� ��	� ���� �����
 ��

�� �������� ��� ��= ���� �� 	���������� �� � 	����	���� ��	��� �� �� � ��
 ��� ��= ����� ��

����� ��
 	������ ��	��� ��� ���������
 �� 	�������� ��� ��
 ���>� �����	��&���� <��� ����

���� �� ���� � ��&�� �
0������� ��
 ���� �� ���
� ��� 
�&������� �		����� �� ��� ��
�� ��


��� 
����

) 5	��������#� ������%�

)��� ��	���� �������� ��� ���� ������	�� �������� 2����� ��� ����������� �� ��� ���	����(

��
�� ��
�� ��� ���������� �� 	�������
 ��	�� ����	� �� >3 	���������� ��= ��� 
�������


�I



��
 ���� ��� 	��������	���� �=��������� ��� 	��
�	��
 ���� ���
�� � ������&� ������� ���+

��	� �� ��� ��

���

)�� $��
�"��6 -��	���

2�
��� 6I7 
������� 	����������� ��&�������� ������ ��
 ��� 	������+������ ����� �� ��� 
���

��
 �� ��� ���	����( ��
�� ����� ��� 	���������� ��= �� ������
 �� ������ �� >3 ��� �

���
 ���� ����� ��� �	����� ���	��� � ����
�+����� ���� �� ��	���� �>3�

1980 1990 2000 2010
25

30

35

40

45

50

55

60
Consumption

Model
Data

1980 1990 2000 2010
10

15

20

25

30
Investment

1980 1990 2000 2010
50

60

70

80

90

100

110
Real GNP

1980 1990 2000 2010
1.6

1.8

2

2.2

2.4

2.6

2.8

3
Capital-Output Ratio

2�
��� I8 G��	����( 1�
�� ��
 <������� �		�����

"������ ��� ������	���� ��� ����
��
 
����� ��
�� 	������� ��� ������� ��&������ �� ���

�������� �		������ �� 2�
��� 6I7 ��
�	����� )�� ����� �������	� ��&������ �� ��� ��
��

�� &��� ����� 	��������� ���� ��� ��
��
� �� /���� ?$�������@
��� ��
 ?$�������@
�� 6���;7�

<��� ���� ��� 	��������
 ��
�� ���� ����� ��
 	������ ��	��� ��= ����� ���� ��� 	��	�����


����
 ���
���� 
�D����� �����
���
���� ��
 
������ ���� 
�E	���� ��� ��
�� �������� &���

���� �� 
��������
 ��	���	�����	 �

��
���� ���� ��� 	���� �� ����� 
��� 	������������ )��


��	�����	� ������� ��� ��
�� ��
 ��� 
��� �� ���
��� �&�� ��� ���� ��� ������ ����	����� ��

��&������� ��
 ������� ��
 ��������� ��� 	������+������ ������

2�
��� 6�7 �������� ��� 
�&������� �		����� �� ��� ��
�� ��
 ��� 
���� %���� ��� �� ��

��� ��
�� ��
 
��� �		����� ��� 
�&������� �����	�� �� ����� �����(����� -&�� ��� ������

��



*������, �����
 �� � ��+����� ��� ��
�� �	����� ����� �� 
������� �	�����	 ����&��� ����


���&��� � ������� �����	� ���� �� &��� 	���� �� ���� �� ��� 
���� $� ����� ���
�� ��� ������


����� ��
�� 
�������� ���������� �����&������ �� 
�&������� �		����� ��
 ��������� ��

	�� ���&�
� ���� 
��
��	� �� ����	� 	���	�� ��	�
 �� ��� �������� ��	�� ����������

1980 1990 2000 2010
0

0.5

1

1.5

2

2.5

3
Tax Revenue from Consumption Tax

Model
Data

1980 1990 2000 2010
10

12

14

16

18

20

22
Tax Revenue from Income Tax

1980 1990 2000 2010
-0.15

-0.1

-0.05

0

0.05
Budget Balance

1980 1990 2000 2010
-0.15

-0.1

-0.05

0

0.05
Primary Balance

2�
��� �8 G��	����( 1�
�� ��
 !�&������� �		�����

)�� ���
��  ���
0 ',����"����

�� �� ��� ��

�� �� ����� ��� 
��� �� ��� 1������� �� 2����	� ��� �� ��&� � ������&� �������

�����	� �� ����� 4������������� ��� ��	��� 
������� �� �	�����	 �	��&��� ��� ���
���


��� ���
���� 
���� &��� 
�E	��� �� ������� )��� �����	���� 
��	����� ��� 	��������	���� �=+

��������� ���� ��� �� ���
�	� � ������&� ������� �����	� �� ��� ���� ������� )�� ����

	��������	���� �=�������� ������� ���� ��� 	���������� ��= ���� �� �����
 ���� >3 �� �

���	����
� ������ ��	� ���� �������
 �� ����� ����� �� ���	��� �>3 �� ���:� $� ��� ��	��


�=��������� ��� 	���������� ��= �� �����
 �� ��� ���� �� �>3 �� ����� G��� �=���������

 <��� ���� ��� �
0������� 	������� �� � �� ���� ������
 �� ��� ���������	�� �����
 &����� �� ��� 	����������
��=�

� 



��� 	��
�	��
 �� ���� �� �����	� ������
�� ���������� ��
 ��� 6�&������7 ��� ��&�� �� ���

	���������� ��= ���� �� ���������
 ����&���

)�� ���&���� ��	���� �� 	���������� �������A�
 ��� ����������� �� ��	�� &�������� ���

��� ��
 �����
� )� ���������� ��� ��� ������ ����� �� ��� ��������
 ��	�� &��������� ��

������ ���� �� ��
 
�� �&��&� ��	� ���� ��� ������ �� ����� �=���
������ �� !<# ���

	��������� ���� ����� ���0�	��
 ��� ��� �������� �	����� �� 2�(��� ��
 5��� 6��� 7� $� ��

������
 ���� ��� ������ �� ��>�� �>3 ��
 ��3� �����	��&���� ������ 	������� ��� ��� ��
������

������� )�� ��= ����� �� ����� ��
 	������ ��	��� � ������ �����������
 � ������ 	������� ��

����� ������
 �� 	��	�����
 &����� �� �����

)���� $��
�"��6  ���
07 8� ������%

2�
��� 6 7 
������� ��� �������� �� ��� �	����� �� ��� ���	����( ����	� �� (�����
 ���

	���������� ��= ���� �� >3 ��� � ���
 ����� $� ��	� ������ ����� 
�D����� *
�����, �	�������

��� 	����
���
� )�� ��

�� 	��&� ���������� ��� ���	����( &���� �� ��� 
����� ���� �� )2#

�� �3 �&�� ��� ��=� �� ������ $� �

������ �� 
������ ��� ��������� �� ��� �

��
��� &��������

��
�� � ����������	 )2# 
����� ���� �� �3 ��
 �� ���������	 &���� �� �3�

5������
 ���� ����� ��� �	����� ������� ��	������
�� 
�D����� ����� 
����
��
 �� ���

������
 ���� �� 
����� �� )2#� 2�� �=������ ����� �� � ���
�� ��	����� �� ��&������� �� ���

����� ��� �� ��� ���	����( 	���� )��� ��P�	�� ��� �

�
 ��	����&� �� ��&� ��
 ��&��� ����

� �3 )2# 
����� ���� ���	� �� ���
���� �&�� ��� �&���
� )2# 
����� ���� �&�� ��� ���� ���


�	�
��� %���&��� 
�&�� ��� ���������� ���� ��� )2# 
����� ���� ��	������ �� ��� ���
 ���

&���� �� �3 �������
 �� ��� � ��&������� ����� 
��� ����� ���� �� ��(� �
&����
� �� ���

��
��� ������� �� 	������ ��	��� ����� ��� �

B��� A��� )2# 
����� ���� �� ��� ����������	 	���� �	�����	 �	��&��� 
�	����� �� ��
�	���


�� ��� 
�	����� �� 	����������� ��&������� ��
 ������ �� 2�
��� 6 7� )�� ���������	 	���

����� �� ��	����� �� ��� �	�����	 �

��
�����

��



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
���  8 /���������� )�= F��� �� >3

9�
��
��
 ��� ����	� �� ��� ������� �����	� �� *
���
 ������
,� ��� �����	������ ��

����������
 ��� 	���������� ��= ���� �� >3 ��� � ���
 ���� ��� ��
����
��� ���� ���

������
 )2# 
����� ����� $� ��� �	������� ��� 
������ ��� ������� �����	� �� ������ ��
���&�

���� ��� �����
� 2����������� �� 
��� ���
�� �� �������� &���� 
�� �� ��� ���������� ��

���0�	��
 ��	������ �� �
��
 ������
 �=���
������ �� ��������� ������ �������	� ��
 ���
 ����

	��� ��� ��� ��
�����

)��������� *
���
 ������
, �� ��� � ����	� ������ ��� ��� �������� 
�&������� �� ���

��0�	��&� �� �� ���� � ������&� ������� �����	� �� ��� ���� ������� 5��� ��=�� ���� �� �����
�

�� �=���
������ ���� �� 	�� ��&������ )�� ��=� �����	���� ���� �=����� ��� �����	������ ��

������
 ��� 	���������� ��= �� �>3 �	���&� ��� ��	�� ��0�	��&��

)����  ���
0 �7 ����	�� -��� �/ ��� ����	"����� ��, �� ) 9���� �� �): !0
�4�&

2�
��� 6��7 ����� ��� ����	� �� � 
��
��� �+���	����
� ����� ��� ���� ��	����� �� ��� 	��+

�������� ��=� �������
 �� ����� 4�
�� ���� 	��������	���� �=��������� ��� ��= �� 	������+

���� ��	���� �>3 �� ���� ���: ��
 ������� �� ���� ��&�� ����&���

4�
�� ���� ��� ���	����( )2# 
����� ���� �� �3 ��
 ��� ���������	 
����� ���� ��

��



�3 �&�� ��� ��=� �� ������ ��� ������� �����	� ����������� ����� ������&�� ��� �&��������

��	���� 6��	������
��7 ��
���&�� B��� A��� )2# 
����� ����� ��� ������� �����	� �� ��&��

������&�� #�� 
�D�������� �&�� � ���������� 
����� ���� �� �3 �&�� ��� ��=� �� ����� �� ���

��E	���� �� ����������� �����
� ��� ��= ���� �� 
���&�� ���������� ������� ���������� 
������

� 
��
��� ��	����� �� ��� 	���������� ��= ���� �� �>3 �� �&� ������ $�
��
� ��� �������

������� �� ���� 	��� �� &��� ����� ��&�
�

1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� ��8 !��
��� $�	����� �� /���������� )�= �� �>3

)����  ���
0 �7 �	���� -��� �� ��� ����	"����� ��, -��� �� �): �� �4�4

2�
��� �� ����� ��� ������� �� ��
�� ����������� ���� ��� 	���������� ��= �� �����
 �� ���

���� �� ���� ���� >3 �� �>3� 5������ �� ��� ���&���� �=���������� ���� ����	� 	���
� �� ����

�����	��� ����	�����
 �� �	�����	 �
�����

��



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� ��8 5�

�� $�	����� �� /���������� )�= �� �>3

�		��
��
 �� 2�
��� 6��7� � ������� ������� 	�� �� �������
 �� ���� ������ �� ��� 	��+

�������� ��= �� �����
 �� ��� ����� ��
��
���� �� ��� )2# 
����� ����� )�� �	��� ��� �	���&��


� ������� ������� �� 	������ ���
�� ���� � ��

�� ��	����� �� ��� 	���������� ��= ����� %��+

�&��� �� ��� 	���� ��� ������� �����	� ��	���� ��
���&� �
��� &��� ���	(��� 2�� ��� �3


����� 	���� ������� �����	� �� ������&� ��� ���� � ��� ������ ��
 ��� ��� �3 
����� ����

	���� �� �� ������&� ��� ����� I ������

)���� �� &��� ������ 
�D����	� �� ��� ��� ��� �	����� ������
� �� ��� 
��
��� &����� ���

��

�� ��	����� �� ��� 	���������� ��= ���	� ��� �
���� ��	� 	������� ���(��� ��
 �����	�

������
��� �� � ������� ��� 	���������� ��= ���� ����&�� ����� ��������� �	���� ����� ���

��	�� ����	���� %���&��� ��� 
�&������� �		����� �����&� ���� ���	(��� ������ ����
�������

���� ��� 	���������� ��= ���� �� �����
 �� ��� ����� ������� �� �����&�� &��� 
��
������ ��

�� ���� ��
 �� ���0�	� ���� �� ��� �

������� �D�	� �� �	�����	 
����� ���� ��� ��= �� �����



��
������

)�� ��(�+���� ���� ��� ���� ��� �=��������� �� ���� �&�� � ��+���	����
� ����� ��	�����

�� ��� 	���������� ��= ����� ���� >3 �� �>3� �� ����E	���� �� ����
 � 	��������� ������ ��

������&� ������� �����	�� ��
�� ��� ���	����( ����������� �� 
�&������� �=���
�������

)���� ��� ����� �������� �&����� ��� � ���� ���������� �����&����� �� 
�&������� �		�����8

�C



�7 �	�����	 
����� ������ ���� �3� ��7 	���������� �� 
�&������� �=���
������ ���� ��������

��
�	����� �� ���	����� �� ��	��� ��	������ ��
� ���7 � ���
�� ��= ��	������ B� 	����
�� ����

�� ����� �=��������� �� ��� ��=� ��	�����

; �������#��0 *���0���

$� ���� ��	����� �� �=����� ��� �������&��� �� ��� ������� �� &������ ����������� ��
� ��

��� ���&���� ��������� 2����� �� ���
� � ������ ���� �� ��	�������� �� ��� 	��������	����

�=���������� <�=�� �� ���
� ��� ����	� �� ����� ����������� �� 
�&������� ���	����� ��


�������� �������� �� ��� ���	��� �� ��� ��	�� �=����������

;�� �	������ �� ������ -���� */��� �442

$� ��� ����	� �=���������� ��� �
���� ��� ������
 �� ��&� �����	� ������
�� ����� ��� )2#


����� ����� ��� ���� ��
 �����
� $� ���� �����	����� �� ���
� �� ��� ���������� �� �����	�

������
�� �� 	����	�� ��� ��� �������� $� �����	����� �� ��� ������ ���� ��� �
���� ����( ����

��� )2# 
����� ���� ���� �� �3 �� ���� ��
 �����
� �	� �		��
��
�� �������
 ���� � ��� ���

���� ��� ��������
 �� ��
 � 
�D����� )2# 
����� ���� ��� ���� ��
 �����
� B� 	����
��

��� �������� �=���������Q ���� ��
 ��� �� ��� ���� ��� 
����� ���� �� ������ �3 �� �3�

2�
���� 6��7+6�C7 
������ ��� ������� �� ����� �=����������

�:



1980 1990 2000 2010
25

30

35

40

45

50

55

60
Consumption

Model
Data

1980 1990 2000 2010
10

15

20

25

30
Investment

1980 1990 2000 2010
50

60

70

80

90

100

110
Real GNP

1980 1990 2000 2010
1.6

1.8

2

2.2

2.4

2.6

2.8

3
Capital-Output Ratio

2�
��� ��8 �

��
���� ���� � 5������� )2# !����� 9��� �� ��� ��
 �����

$� ����� �� ��� ����&��� �� ��� �������� �		������ ���� �	����� �� &��� ������� �� ���

���	����( �	������ 2�
��� 6��7 ����� ���� ��� �� �� ��� ��
�� ��
�� � �������� 	���
� ��

��� )2# 
����� ���� �� ��� �� &��� ������� �� ���� �� ��� �����	� ������
�� 	����

.&�� ��� 
�&������� �		����� ����&� ����� ��� ����� �� 2�
��� 6�C7 ��
�	�����

�>



1980 1990 2000 2010
0

0.5

1

1.5

2

2.5

3
Tax Revenue from Consumption Tax

Model
Data

1980 1990 2000 2010
10

12

14

16

18

20

22
Tax Revenue from Income Tax

1980 1990 2000 2010
-0.15

-0.1

-0.05

0

0.05
Budget Balance

1980 1990 2000 2010
-0.15

-0.1

-0.05

0

0.05
Primary Balance

2�
��� �C8 #������ G����	� ���� 5������� )2# !�����

$� ����� �� ��� ����	� �� ����	�� ����� ��� �� 
�D����	��� �� 
���	��
 �� 2�
��� 6�:7� $�

��� �������� 
�&������� 
��� ��� 	���
� ��� 	���������� ��= ���� ���� ��� 	������ ��&��

�� >3� � ������� �����	� �� ��&�� �	���&�
� ��
��
���� �� ��� ������
 )2# 
����� ���� ���

���� ��
 �����
��

�;



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� �:8 <� /���
� �� /���������� )�=

2�
���� 6�>7 ��
 6�;7 �����	��� ��� ��� ��= �=��������� �� ���� ���+�����	� ������
��

��&��������� -�	� �
���� ��� ������� ��� ������ �
����	�� �� ��� ���	����( 	��� �� �����	�

������
���

�I



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� �>8 !��
��� $�	����� �� /���������� )�= �� �>3

��



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70

80
Consumption

Benchmark
Optimistic
Pessimistic

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
40

60

80

100

120

140
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� �;8 5�

�� $�	����� �� /���������� )�= �� �>3

�� � ������� �� 	��	��
� ���� ��� �����	� ������
�� ���������� ��
��
��
 ��� )2# 
�����

���� ��� �� ��P���	� �� ��� ����������&� ��
��
�� )��� �� 	��������� ���� � ������ �� �������

��
��
� �� ��� ������
 �����������

;�� *��������#� *��	"������ �� �� ��� ���

$� �� �&�������� �� ��� ��= ����	� �D�	�� ��� ������� �����	�� ����������� �� ������ 
�&+

������� ���	����� ��
 �������� ��������� �� �

����� �� ����������� �� 
����� ���� �D�	�

��� ��= ����� ��� 	����	��� $� ��� ���&���� �������� �� ���������
 ��� ���������� ���� ����

��� 
�&������� ���	����� �� !<# ����� ��
 �������� �������� �� !<# ����� ���� �		��
��


�� ��� ��������� ���&�
�
 �� 2�(��� ��
 5��� 6��� 7� G���P�� ����� �=���
����� ����� ���

������
 �� ���� ���� ����� ���� &����� �� �����
 ��3 ��
 �:3 �� �>3 ��
 ��3� �����	��&����

�� ��>�� <��� ���� ����� ���0�	��
 ��	������ �� 
�&������� �=���
������ ��� 
�� �� ��� �
��


�� ��� �������� ���������� ��
 ��� ��������
 �

������� �=���
������ ��� ���������� ��������

������ �=���
������ ��
 ���
 ���� 	��� ��� ��� ��
�����

$� ��� ��=� ��� �� �=���������� ��� ���������&�� ���� �� 	����
���
 �� ����� ���	����(

�����������8

� 



� � *���
���, ��	�� ����	� �� ���	� ��� �&������ ���
��� ��� ����� �=���
����� ����� ���

����� �� C ���	����
� ������� ������&� �� ��� ���	����( 	���� ���� ��� ��
 
���

��
��
 �� �� ��3 ��
 �>3 �� ��>��

� �� *�����
���, ��	�� ����	� �� ���	� ��� �&������ ���
��� ��� ����� �=���
����� �����

��� ��
��� �� C ���	����
� ������� ������&� �� ��� ���	����( 	���� ���� ��� ��



��� ��
��
 �� �� ��3 ��
 ��3 �� ��>��

$� ���� 	����� �� �� ��� ���	����( 	���� ��� ����� ��� ��	�� ����	� &�������� �������� ����

���� ��� ���� ��&��� �� ��� ������
 ��>� ��&����

1980 1990 2000 2010 2020 2030 2040 2050
0.05

0.1

0.15

0.2

0.25

1980 1990 2000 2010 2020 2030 2040 2050

0.16

0.18

0.2

0.22

0.24

0.26

0.28

0.3

TR/Y Benchmark
TR/Y Prudent
TR/Y  Imprudent

G/Y  Benchmark
G/Y  Prudent
G/Y  Imprudent

2�
��� �I8 ���������&� ����������� �� !�&������� .=���
������

2�
��� 6�I7 
������� ��� ���� ����� �� ��� ������ �� �������� �������� ��
 
�&�������

���	����� �� !<# ��
�� ��� ���	����( ����������� �� ���� �� ��� ��� ���������&�� 
�+

�	����
 ���&�� $� ��� �
���� ��
 ������ ������ �� ���� 
������ ��� �D�	�� �� 	��������	����

	���������� ��= ��	������ �� ��� �������� �		����� ��
 �� ��� ������� �����	� ��
�� ��	�

�=���
����� �	������� $� �

������ �� ���� ������� ��� ����������&� ������� ��� 
����� �����

���� ��� ���� ����	�� �� ��� ���� B���
 B�� $$ �������� �	������

C�



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70
Consumption

Benchmark
Prudent
Imprudent

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Inv estment

1980 1990 2000 2010 2020 2030
50

60

70

80

90

100

110
Real GNP

1980 1990 2000 2010 2020 2030
-0.15

-0.1

-0.05

0

0.05
Primary  Balance ov er GNP

2�
��� ��8 <� /���
� �� ��� /���������� )�= 6>37

2�
��� 6��7 
���	�� ��� ������� �� *
���
 ������
,� 0��� ����������
 ��� 	���������� ��=

�� ��� 	������ >3 ��&��� 4�
�� ���� ���	����( ����	�� �&�� �� ��� *���
���, ��	�� ����	� ��

��3 ��
 �>3 ��� ��� ��
 
��� ��� �����A�
 ����
 ��� ���� ���� ��� �� ��>�� ��� �������

�����	� �� ��&�� ������&�� 2����������� ��
�� � ���� *�����
���, �=���
����� �	������ ��

��3 ��
 ��3 ��� ��� �=���
����� ������� ��� ������� �����	� �� ��	������
�� ��
���&� �����


�����	�
����
 ��&���� �� �� ��� ���
���� 	���� ���� ��= ���� �� �����
 �� ��� 
�&�������

����� �� ���� � ������&� ������� �����	� �� ��� ��	� �� ��	��������
 �=���
�������

C�



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70
Consumption

Benchmark
Prudent
Imprudent

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Inv estment

1980 1990 2000 2010 2020 2030
50

60

70

80

90

100

110
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary  Balance ov er GNP

2�
��� � 8 !��
��� $�	����� �� ��� /���������� )�= �� �>3

2�
��� 6� 7 
������� ��� ��
��
� �� � 
��
��� ��	����� �� ��� 	���������� ��= �� �>3 ��

���:� �������
 �� ����� )�� ���	����( ���������� �����	���� ��� ������� �������� )�� ���+

���� �����	� ����������� ����� ������&� ���� ��� � ��� ����� ��� ���	(�� ��	���� ��
���&�

��
 	�������� �� ������� B��� ��� �����
��� �=���
����� �	������� ��� ������� �����	�

��&�� ��	���� ������&� 
������ ��� �

������� ��3 	���������� ��=� -��� ���� ��� ���+


��� �=���
����� ����	� 
��� ��� ������� �����	� ������� � ������&� &���� ��� �� ����� ���


�	�
��� .&�� ��
�� ����� 	��
������� ����&��� ��� ������� �����	� �� ����
��
 
��� ��


���� �&�������� ���� ��
���&� ��	� �
����

C�



1980 1990 2000 2010 2020 2030
20

30

40

50

60

70
Consumption

Benchmark
Prudent
Imprudent

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Inv estment

1980 1990 2000 2010 2020 2030
50

60

70

80

90

100

110
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary  Balance ov er GNP

2�
��� ��8 5�

�� $�	����� �� ��� /���������� )�= �� �>3

B��� ��� 	���������� ��= �� �����
 �� ��� ����� ���� >3 �� �>3� ��� ������� �����	�

��	���� ������&� ����
������� �� 2�
��� 6��7 ������ "������ ���� ���	( ��������� ��� ��+

��&��� �� ��� ������� �����	� ����� ���� ������� 
�&�������� �� �������� 
����
��� �� ���

������
 ����� ��� 
�&������� �=���
������� 5������ �� ��� 	��� �� � 
��
��� ��	����� ��

��� 	���������� ��=� ��� ������� �����	� 
������������ ��
 ��� ���� �� ��������
 �� ������

���� ��� �����
��� ����	�� )���� 	��������	���� �=��������� ��
�	��� ��� 	����	�� ���� ��

��� �������� 
�&�������,� �=���
������ �� 	���������
 ��� ������ ���� �� ��� ��

��� ��+

����
� ���� ����� �� ���������&��� ��&����� �� �� ��� ����������&� ������ �� ��� �=���������

���� �������A�� �� 
�
��� �� ���	� ���� ��������� �� &���
�

B���
 ������ �	�����	 
����� ���� �	���&� � ������� �����	� ��
 �������� �������� ��

��� � ���
 �����
 �� ����R )� �

���� ���� ��������� �� ������ ��� ���&� �=��������� ����


)2# 
����� ����� �� �3 ��
 C3� �� �

����� �� ��� ���	����( &���� �� �3� ��� ��� �����


�&������� �=���
����� ������������

)����� C+> ������� ��� ������� ��
�� ��� ��� ���������&� 
�&������� ����
��
 ������+

������ ��
����� ���� ��� ���	����( ��	�� ����	� ������������ )���� ������ ��(� ��		����&���

��
��� )2# 
����� ����� ���� �		���� �� ��� ��� 
����� ������	�� ���� &������ �=���
�����

CC



������������ <��� ���� �� ��� ������ ������ �� ������ ��� ���� ���� ���� ��� ������� �����	�

����� ������&�� � *�, ��
� ��
�	���� ���� ��� ������� �����	� ������� ��
���&� �����
����

��� *����	���, �����
 �� ��� +����� � ��	��
 ���� ����
� ��� ����������� ��
�	���� ���� ���

������� �����	� ���� ��
���&� �
��� �� ���� ���� ��
 ������� ��
���&� �����
�����

�		��
��
 �� )���� C� ��
�� ��� ���	����( )2# 
����� ���� ���������� �� �3 ��


��
�� ��� *
�+������
, ����	� �� (�����
 ��� 	���������� ��= �� >3� � ������� ������� ��

��&�� �������
� $� ����� ���
�� �&�� ��
�� � ���
��� ��	�� ����	� ���� �	���&�� C3 �����

������ �� 
�&������� ���	����� ��
 �������� �������� �� !<# �� ��>�� ���	� 
��� �
�����

��� ���0�	����� �� �	��������� � ���� �� ��� 	���������� ��= ����� ��	������ �� �	���&� �

������� ��������

� 
��
��� �� � ��

�� ���� �� ��� 	���������� ��= �� �>3 
���&��� � ������&� �������

�����	� ��
�� ��� �� ��� ��	�� ������������ %���&��� ����� 
���� ��� ���������� $� ���

�����
��� ����	� 	���� �&�� � 
��
��� ���� �� ��� 	���������� ��= 
��� ��� 
���&�� � ������&�

������� �����	�� B��� � 
��
��� ����	�� ��� ������� �����	� �&�������� ����� ��
���&� �&��

���� ���
��� �=���
����� ����	�� B��� � ��

�� ���� �� ��� 	���������� ��= �� �>3� 
����

��� ���������Q ����� �� �&� ����� ��
�� ��� ���	����( ��
 �����
��� �=���
����� ����	����

��
 ����� �: ����� ��
�� ��� ���
��� ����	��

)���� C8 2���� H��� #������ G����	� G�	���� #�����&�� " � 	��	

#��
��� #��+

�	�

G��	����(

#���	�

$����
���

#���	�

"� <�����
 � � �
!��
��� $�	����� ���C 6��C:7 ���: 6���;7 �
5�

�� $�	����� ���� 6��C:7 ���� 6���>7 ���� 6���C7

)����� : ��
 > ��(� ��	������
�� ���������	 &���� �� ��� 
����� ���� �� )2# ���	�


��������� ��� ��	� ���� ���	� ��� ��= ���� ���� 
���� )�� �����
� �� ����� ������ �� �������

�� ���� 
�&�� ���&�� %���&��� ������ �	�����	 
����� 	�������� ������ ��� ��= ���� ��
 �����

��� 
�&������� �	���&� � ������� ������� ������ �� �������� �� ���
��� 2�� �=������ ���� �

�3 )2# 
����� ����� �� ��	����� �� ��� 	���������� ��= ����� 
��
��� �� ��

��� 
��������

� ������� ������� ��
�� ���� ��� ���	����( ��
 ���
��� ��	�� ����	���� .&�� ��
�� ���

�����
��� ��	�� ����	�� ��� ������� ������� �� ���������
 ��� � ��� ����� �� ��� 	����������

��= ���� �� �����
 �� ��� ����� $� ��� 	����� ��� ������� �����	� 
��� 
���������� �&�� ����

��
 �&�������� ����� ��
���&�� �������A��
 ��� ��������	� �� ������� ��	�� 
��	�������

C:



)���� :8 2���� H��� #������ G����	� G�	���� #�����&�� " � 	���

#��
��� #��+

�	�

G��	����(

#���	�

$����
���

#���	�

"� <�����
 � � �
!��
��� $�	����� ���C 6��C;7 ���C 6����7 �
5�

�� $�	����� ���� 6��C;7 ���� 6����7 ���� 6���:7

)���� > �������� ��� ������	�� ������� �� ��� ���� 	��������	���� �=��������� ��
�� ���

���� ���������	 )2# 
����� ���� ���������� �� C3� �� ������� � ������� ������� �� ��&��

�	���&�
 ��
�� ��� *
�+������
, ����	�� $� ��
��� �	�����	 
����� 	����	�� �� 	����	���
 ���

��	�� �������	�R B���
 
�����+��������
 ����	��� ��� 
�&�
��
� �� ��� ������R �		��
��


�� )���� >� ������
 
��� ��� 
����� �� 
�&������� �=���
������ �� ��� ���� ����������

)���� >8 2���� H��� #������ G����	� G�	���� #�����&�� " � 	���

#��
��� #��+

�	�

G��	����(

#���	�

$����
���

#���	�

"� <�����
 � � �
!��
��� $�	����� ���� 6��C�7 ���C 6����7 ���: 6���;7

5�

�� $�	����� ���� 6��C�7 ���� 6����7 ���� 6���;7

)��� �����	���� ��� 
����������
 ��� ��������	� �� 	��������
 
�&������� ���	�����

��
 �������� �������� �� ���� �� ������ �	�����	 
����� �� ���
�	��
 � ������&� �������

�����	�� $� ��� ��(�� ��� &��� ���� ��� 
�&������� �=���
������ ��� ������ 
�	����
 �� ���

���0�	��
 �
��
 �� ��� �������� ���������� ��
 ��������� 
�E	��� �� 	������� ���� ��� ��	��

��������� �� ��	�
 ���� ��� 
�E	��� ���( �� ������ ������
 ��� 	���������� ��= �����
 �>3

�� �����������
 �� ��	����� �� ��� ����� ��	��� ��= ����� ������ ��� ���������	� �� ���

�������� �	����� �����&�� ��
���	������ -� 	������ ��� ��	����� �� ��� ����� ��	��� ��=

���� ����
 ��&� ���� 
������������ 	��������	�� ��
 ���� �	�����	 
������ ��(��
 ���

���( �� �	���&��
 � ������� ������� ���� ��	� ���� 
�E	����

;�� �	������ ��
������ �� ��� ����	"����� ��, ����

$� ��
�� �� ���
� ��� ���� �� ��� �����	� ������
�� ���������� ��
��
��
 ��� ��	����� �� ���

	���������� ��= ����� ���� ��	���� �������� ��� ������� ���� �� �=�������� �� ���	� ��
�&�
+

���� ��� ��������
 �� � ��= ��	����� ������	����� �� ��� � $� ��� �=�������� ���� � 
��
���

��	������ ��� 
�&������� ��(�� �� ���=��	��
 ������	����� �� ��� ���� ��� 	����������

��= ���� ���� �� �����
 �� ���� �� � ���	����
� ������ ��
 ���� ����� ���� �� �����	���
 ��	�

���� ����� �� ���	��� �>3 �� ���:� $� ��� ���������&� �=��������� ��� 
�&������� ������	��

C>



�� ��� ���� ��� 	���������� ��= ���� �� ��	�����
 ���� >3 �� �>3 �� ��� ���� �� ����� $�

��� 	����� �� ��� ��� ���	����( ����������� �� ��� 
����� �� 
�&������� �=���
�������

1980 1990 2000 2010 2020 2030
20

30

40

50

60

70
Consumption

Benchmark
Gradual Increase
Sudden Increase

1980 1990 2000 2010 2020 2030
10

15

20

25

30
Investment

1980 1990 2000 2010 2020 2030
50

60

70

80

90

100

110

120
Real GNP

1980 1990 2000 2010 2020 2030
-0.1

-0.05

0

0.05

0.1
Primary Balance over GNP

2�
��� ��8 5������� $�	����� �� /���������� )�= �� �>3

2�
��� 6��7 ����� ���� � ������� ������� �� �	���&�
 ���� ���	(�� �� ��� ��= ���� �� �����


�� ��� ����� ��� ��� ������� �����	� ������� &��� ���	(��� G� ����� ���;� ��� 
�&�������

�� ��	( �� ��&��
 � ��
���&� ������� �����	�� )���� ������� ��� &��� ������� �� ����� �� ���

�����	� ������
�� 	��� �� ���	� � ������� ������� �� ��&�� �������
 �� ��� *
�+������
, ����

	���� ��
 �� �� �	���&�
 ���� ����������� �� ��� 	��� �� � ���� �� ��� 	���������� ��=�

< ���
�	�����

)�� �������� 
�&������� ������
�
 �� ��� *���� 
�	�
�, �� ���� �� ��
���	����� ��	������


��� ����
��
 ��
 ������� ������
 ��� 
��� �� ������ ����� �� ��� ��
���� ��&�� ����
 �
&��	�


�	�������� )��� �����
 	��	���� ����� ������� ��	�� ������ ��
 ��	��� ������	� ��� ��	���


�� ��� �D�	�� �� ��	�� ����	� �� ��� �������� �	����� ��
 �� ��� 
�&�������,� �������

�����	��

C;



)��� ����� ���� ��� ����
��
 
����� ��
�� �� ������� ��� ����	� �� � ���� �� ��	��

����	� 	���	�� �&������� �� ��� 
�&������� �� �������� �������� ��
 
�&������� �		������

)�� ��
�� �� � 
������ ����������� ��
�� ���� 	������� ���(��� ��
 �����	� ������
��� �

������������&� ��������
 ��
 � ����
+�� ��� ��(� ��	��� ���	��� 
���
�����	�� ��
 
�&���+

���� �=���
����� ��
 ��=����� ����	��� �� 
�&��� ��
 ��=���A� ����� ��0�	��&� ���	����� ����

�����	� �� ����� ��

�� 	����������� )�� 
�&������� ����	�� ��� �=�
����� ����
��
 ����

��=�� �� ��	��� ��	���� ��
 	�����������

-�� ����������&� ��
��
� ��

��� ���� ��� ���� ��������� ��	��� �� ��������
 � �������

������� �� ��� ���� ������ ��
 �� ����������
 �� ��� ���� ����� �� ��	�� ������� )�� ��	��

��������� ��� �� 	������ ������ 
�&������� ���	����� ��
 �������� ��������� �� � ��	��


��	���� �����&�
 ���������	� �� ��� �������� ��	���	����� �����
� ������ ���
�	��&���


����� �� ���� ���������� #�� 
�D�������� ��	������ �� ��� ��= ���� �����
� �	�����	 
�����

���� ������ ��� �������� 
�&������� �� ���	� � ������� ������� ������ ��� �� ��
�� �� ��(�

����� 
���� ���������� ��� 
�&������� ���
� �� ���� 
��� ��� 
����� �� �=���
������� $�

�����	����� ���0�	��
 ��	������ �� ��	��� ��	����� �=���
������� 
��&�� �� ��� �
��
 �� ���

��	����� ����� �� � ������� ����� �� ��� 
��� �� ����	� �� �� ��&���� ��� ��	��� ����
 �� �������


��	��� ���� �

 �� ��� �����
� ��
� �����	 
����

-�� ����������&� ������� ��� �������
 �� ��� ���� ����	 
����� ��
�� ���� ������	��

���� ����������� ��������� �	�����	 ��	����� �������
 ��� ��
�
����� ����� ��
 	����
��+

��
 � ��
�� ����� �� ��	�� ����	� 	���	�� ��� 	������ 
��������� )���� ��
 ����� ���������

�=�������� ��� ���� ��� ������ ������	��

CI



-�/����
��

S�T G����� 9� ��� "� $(�
�� ��
 "� %� ������ 6��� 7� L)�� 5�&��
 9��� $� �����8 B�� $�

%�� 2����� ��
 B�� $� B��� 9����� O��N� ���������	��
 ��	�	
�� ������� K��� >�

6�7� � �+C���

S�T /���� F�� �� ?$�������@
�� ��
 5� ?$�������@
�� 6���;7� L)�� �������� 5�&��
 9���N�

�
������ ��	�	
�� ������ K���  ; 6>7� ��>�+��>��

SCT /���� F�� �� ?$�������@
�� ��
 5� ?$�������@
�� 6���I7� L)�� �������� 5�&��
 9��� ��+

����� � ;�+����8 #��
�	��&���� #���	� /���
��� ��
 "���
�����	�N� ��	�	
�� ���	��

K��� C� 6�7� �I+��:�

S:T /���� F�� �� ?$�������@
�� ��
 5� ?$�������@
�� 6��� 7� L� '���������&� ���������� ��

��� "�	���� �� ��� 4�5� /������ �		����N� �	����
 	� �	������ ��	�	
���� K��� >; 6�7�

��C>+��:I�

S>T .������� %� ��
 H� $������ 6����7� L#����	 2����	� 
����
 ��� O��
 #����
 �� 5��
+

������ ��
 "�P������N 6�� ��������7 F��A��
�(� 9������ <�� I:+�� ��� 4��&������ ��

)�(���

S;T 2�(���� )� ��
 $� 5��� 6��� 7� L#��0�	���� �� #������� %����� ��
 O��
+)��� /���

.=���
������ �� ����� )����
� 1�	�� 5���������N� ��� �������� �	����
 	� �	���


�������� �	
���� K��� � 6�7� CC+:��

SIT %������� 2� ��
 .� /� #���	��� 6����7� L)�� �  �� �� �����8 � O��� "�	�
�N� ������

	� ��	�	
�� ����
���� K��� > 6�7� ��;+�C>�

S�T $����� )�� 9�9� F���� 1� F���
�� ��
 5� G����� 6���;7� L#����	 "��� ��
 .	�����	

!����� �� �� �
���
 �����N� �� ����
�� �����!� "����
 #��

�� ��$ ������ ��� �	 #	��

���� %� � ��&
�� ��&� ��' �	��
���	� � ��� � �
���
 �� F����� F��A�(� ��
 ����

F���
��� #��
��&� 1�	�������

S T F����� )� ��
 .� #���	��� 6����7� L!���� "���������� �� ��� ���� /������N� ������ 	�

��	�	
�� ����
���� K��� >� �+���

S��T F����(�D� O� )� 6���;7� L�&��
��
 � 2��	��J"���
�����	J.	�����	 "���	�� �� �����N�

�� ����
�� �����!� "����
 #��

�� ��$ ������ ��� �	 #	�� ���� %� � ��&
�� ��&� ��'

�	��
���	� � ��� � �
���
 �� F����� F��A�(� ��
 ���� F���
��� #��
��&� 1�	�������

S��T 1��
�A�� .�� �� 9�A��� ��
 O� )���� 6�  :7� L.D�	��&� )�= 9���� �� 1�	���	�����	�8

/���� /������ .�������� �� )�= 9���� �� 2�	��� $�	���� ��
 /����������N� �	����


	� �	������ ��	�	
���� K��� C: 6C7� � I+C�C�

C�


